730 Answers to Problen,,
Sem‘wn 3.4, page |
’\ : 7. y.—cle'cosr-i-c;e’smt 8. yzcle’cos's/gt+cze’si.u«/§t
: 9, y=cre® +ce ¥ 10, y = ¢y~ cost + c;e~ sint
11. y=cre*cos2t + cre ¥ sin 2t 120 y = ¢; c08(3t/2) + ¢z sin{3t/2)
: 13. y = ¢ie™ co8(t/2) + ce~* sin(t/2) 14. y =1 e® 4 cre~4/?
E 15. y= cle"/2 cos? + cpe 2 sint 16. y = cre7% cos(3t/2) + c2¢~¥ sin(3t/2)

17.y=1 5 sin2t;  steady oscillation
18. y = €% cost +2e~#sint; decaying oscillation
19. y = —&*?sin2s; growing oscillation
20. y = (1 +23)cost — (2 — vDsing; steady oscillation
I 21. y =3¢ cost + fe™/sint; decaying oscillation
¥ 22, y=2e "M cost + /Ze " sint; decaying oscillation
1 23, (a) u = 2e"5 cos(v/23t/6) — (2/+/23)e"5 sin(+/23 1/6)
(b) t = 10.7598
24. (a) u = 2e~" cos(+/341/5) + (7/+/38) e~ sin(~+/34 t/5)
(b) T = 145115
25. (a) y =2e~"cos /514 [(a +2)/+/5]e~ sin+/5¢
(b) « =1.50878
(c) t = {w — arctan[2+/5/(2 + a)]}/+/3
& (dy =/+/35
26. (a) y =e¥cost +ae " sint
(b) T =1.8763
(c) = 71, T=74284; «a= %-, T=43003;, a=2, T=15116

35. Yes, y = ¢, cosx + ¢; sinx, x=fe"2”2dt

36. No
37. Yes, y = cie~" " cos(v/32/4) + cre~" sin(v/3 12/4)
39. y = ¢, cos(Inz) + ¢ sin(ln £) 0. y =yt eyt

41. y=cit cos(3 Int) + cor~sin(} In1) 42, y = ct® + ¢t

Section 3.5, page 172
1. y=cie&f +cxte 2. y =1 + eyte™?
3. y=cet? 4 et 4, y = 132 4 cyte=2
5. y =€ cos3it + ca¢' sin 3¢ 6. y=cre¥ + cyte’
7. y=cre " + e 8. y=cre~ ¥  cype
9, y =¥/ L cote’s 10. y =72 cos(t/2) + c2e~?sin(z/2)

11. y =2e%7 - 1te?”, y—» —coast — o0
12 y=2te¥, y > ocast— oo
13. y=—e"Pcos3t + JePsin3s, y—0ast— oo
i 14, y = Te=20+D 4 5¢e=20+D -y 5 Bast — oo
15. (a) y =72 — 2pe~2 (b) t1=1%
{c) 1o =16/15, yo= __e—s,fs = 033649
d) y=e¥2 4 (b+ )re’“3'f2, b=-3
16. y =2 4 (b — 1):e'/2 b=1
17. (a) y =e? + 3o (b) 1y = &, yu =55 =2.24664
c) y=e?+ (b + Pt
(d) 0y =4b/(1 +2b) — 2ash — oo
ym = (1+2b)exp[—2b/(1+2b)] - c0as b — oo

18. (a) y=ae ¥ 4+ (3a— L)te™2? ) a=3
23, () = 24, yo() =172
25, y2() =t lint 26. y2(t) = tef

27. ya(x) = cosx? 28, ya(x) =x




